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bib EFE PilEE= BHhR FX PH SR VT PB HB
1 BN K& [EREAXRF 171497 S 4 3 2 1 6
2 =)= Y RIIIVRAR=Y 169.764 4 3 2 1 6 5
3 MK BES BIFAIRD ST/84KD 168.197 3 2 1 6 5 4
4 &S i Y RIIVRAR=Y 167.764 2 1 6 5 4 3
5 JIE PR RINSKIRD ST /2EKRZE 167.695 1 6 5 4 3 2
6 IE Y RIIIVRAR=Y 167.596 ) 5 4 3 2 1

PH SR VT PB HB FX
v =ig BYE Y RIIVRIN=Y 167.564 5 4 3 2 1 )
8 MR —% NSRS T 167097 4 3 2 1 o6 5
9 L& IR RNSAIRD ST/ 2EKRZE 167.062 3 2 1 §) 5 4
10 fd 828D BNSRIRDOST/BREEUN-YHR | 166.829 2 1 6 5 4 3
11 FE X Y RSIVRIRN=Y 166.296 1 6 5 4 3 2
12 28 IEFE WNSEIRDO ST /BREERN—YHE | 165.796 6 5 4 3 2 1
SR VT PB HB FX PH
13 B 8 IEREAXRF 165.731 5 4 3 2 1 )
14 ARAK BRSK WEKXRZE 165.730 4 3 2 1 ) 5
15 2R O RK BEAERZE 165429 3 2 1 §) 5 4
16 M fE2KRA BED ST /R4 AKEH=E 165.364 2 1 6 5 4 3
17 A MR JFIAR—=Y 165.230 1 ) 5 4 3 2
18 BB %% BN ST /BIREER—YHEE | 164.530 o6 5 4 3 2 1
VT PB HB FX PH SR
19 T3 bEEd BAKEARFE 164330 5 4 3 2 1 o6
20 B G BRIRO ST 164.296 4 3 2 1 o6 5
21 L8 BT BIFHAIRD ST 163.562 3 2 1 §) 5 4
22 BERNZ=F NSRS T 163429 2 1 6 5 4 3
23 B A %2057 162997 1 ) 5 4 3 2
24 BUER s Va1 VAN=VitEE 162.629 o6 5 4 3 2 1
PB HB FX PH SR VT
25 PN Va1 VAN=VitEE 161.829 5 4 3 2 1 )
26 o ® BARGEEARF 161.562 4 3 2 1 6 S
27 S X WWEXRE 160.896 3 2 1 o6 5 4
28 Doez B3t IFIRN=Y 160.797 2 1 o6 5 4 3
29 BN K Va1 VAN—=vitEE 160.295 1 ) 5 4 3 2
30 |&T F0fE Y1 YRARN=VvitiEa 160.064 6 5 4 3 2 1
B1O0—7-L20—7-FB30—7-L40—7-F50—-7-FE60—7—
bib EFZ PilEE= BFHhm HB FX PH SR VT PB
101 |m —1& TIAXZAR=YDS5T )
102 | g FUEAF 5
103 |WiE K48 =HRIRE 4
104 |&F ¥R ISpN== 3
105 |@:8 KU BEABAF 2
106 |[RR #ARS PURKZE 1
107 [EW EX = pN== 6
108 |iERE 68 STEAFKFEMR 5
109 |@$h% & SRBEARF 4
110 |B=E KW NSRS T /2REKRE 3
111 |RIE BA Y2V 2AR=VviLiEE 2
112 |BX Y& IEREXRZF 1
113 |&€B F— BEABAF 6
114 |8 —X BINEAIRD ST/ EREEUR—ViHA 5
115 |8 XX BARAEAFKRZE 4
116 |EB &KX FUEAZF 3
117 |WiE X BIFARDO ST 2
118 |%M &2 TEAMZO® 1
119 |KE =8 BINASIEIRD ST 6
120 |K& BH Pl pNE= 5
121 | &RE =5 B KRR ST 4
122 [f#W=EA IBXZHEBERSEFEFR 3
101 |m —1#& TIAXZAR=YDS5T 2
123 =ik 83 BEEEAFIST 1
124 164 BB Y RSILARN=Y 5
125 |K& 1 B AR ST 4
106 |RR #ARS B AN 3
126 |BW 1% SlAIEo ST/ TSSP 2
105 |@Big ki BEABAF 1
127 |iESs BYE BNSIRIRD ST/ BREER—YERA 6
128 |8 &&E SRR ST 5
129 |FUE AR BErEY2ZPHRIgEOST 4
110 |B=E KW BINEARIRD ST /ERKRZE 3
106 |RR #ARS FUEARZF 2
124 |dtAd ARaR Y RIIVRAR=Y 1




